


When working with Factoring trinomials
-Always check for GCF first

> —4n® = 21n

2n* — 14n + 24
2(n - 3)(n-4)



377 4 2477 + 457
3rr +3)(r + 5)

Factor Each of the following:
(Finish For homework)

1. 2 1d4g+45 2+ 17z +60
3. % - 18x+380 4 2 _10x+16
5 2 Gx40 b - Tz+6

7. x4 20x+ 99 8 £+3x-18

9 #_3z-88 10, 2 16z +48
11 2+ 11x+30 120 o2 C 14+ 33
12 22 45%-130 14 42 3% -70
15, 2 484-9 16, &2 - 162+ 55
17 24 65-70 18, % +9¢-50
19 2+ 10g+ 24 20. 2 +6x-16




Factor Each of the following:
(Finish For homework)

Lo -14z+45  (x-9) (x-5) 2. 24172+ 60 (x+5) (x+12)
3 £-18z+30  (X-8) (x-10) 4 2 10z+16 (x-8) (x-2)

5. 26240 (x-3) (x-3) 6. - Txt6 (x-6) (x-1)

7o +202+99  (x+11) (x+9) 8 4318 (x-3) (x+6)

9 2 _3y._28 (x+8) (x-11) 10, ¢ - 16x+48 (x-12) (x-4)
11 2+ 11+ 30 (x+6) (X+5) 120 3% - 142433 (x-11) (x-3)
13 2 +x-30 (x+6) (x-5) 14, ¢ - 3%-70 (x-10) (x+7)
15 & +8x-9 (x+9) (x-1) 16. &2 - 16x+ 55 (x-5) (x-11)
17. 2+62-72 (x-6) (x+12) 18. 2+ 52 50 (x+10) (x-5)
19, 2+ 10x+24 (x+6) (x+4) 20. 2+6x-16 (x+8) (x-2)
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